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QUESTION 1

Which method does Symantec recommend be used when a host is consuming more than 90% of a link\\'s bandwidth? 

A. Create an adaptive response agent based on the high bandwidth host agent template with the appropriate
thresholds 

B. Create an adaptive response agent based on the peak-bps-link agent template with the appropriate thresholds 

C. Define a new event that checks whether the peak-bps-link measurement variable is more than 90% of the link size 

D. Define a new event that checks whether the avg bps-link measurement variable is more than 90% of 

the link size 

Correct Answer: B  

 

QUESTION 2

Which two (2) tasks does response time measurement (RTM) allow an administrator to perform? (Select two) 

A. Measure the quality of users\\' network experience 

B. Examine host, performance and CPU statistics 

C. Measure the quality of packet exchange times 

D. Measure the number of times traffic flows match a class 

E. Examine performance statistics and performance graphs 

Correct Answer: AC 

 

 

QUESTION 3

What statement accurately describes an ignore policy? 

A. With an ignore policy, traffic is ignored but still counted as part of the link traffic under management 

B. It causes PackelShaper to treat specified flows as pass-through traffic 

C. With an ignore policy, the CU must be used to review RTM 

D. It traverses the traffic tree looking for a matching traffic class 

Correct Answer: A 
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QUESTION 4

A university warns to provide each student a minimum of 30 Kbps and a maximum of ISO Kbps to be used in any way.
Which control mechanism does Symantec recommend to ensure this capacity? 

A. Rate Policy 

B. Burstable Partition 

C. Dynamic Subpartition 

D. Fixed Partition 

Correct Answer: B 

 

 

QUESTION 5

Which option best describes the concept of "Round Trip" as defined in the Monitor Response Time window? 

A. The percentage of transactions completed within the total delay threshold when a client and server exchange of S/N
and ACK packets 

B. The average time in milliseconds from the sending of a client\\'s SYN packet, to the return of the server\\'s ACK
packet 

C. A network delay or server delay threshold that has been set via the command-line interface 

D. The average time in milliseconds certain transactions use, categorized as total, network, and server delays 

Correct Answer: C 
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